03 Arduino

Nyomogomb, LED, Potenciométer
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Nyomogomb

int buttonPin = 2;
int buttonState = 0;
int buttonPushCounter=0;
pinMode(buttonPin, INPUT);

volid setup()
{ J

Serial.begin(115200);

) wvoid loop ()

A
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i
buttonState = digitalRead (buttonPin) ;

1f (buttonsState == HIZH) {
// turn LED on:
buttonPushCounter++;

Serial.println (botter—veat) ;
} buttonPushCounter
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* Problem? ©
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Nyomogomb

int buttonPin = 2;
int buttonState = 0;
int buttonPushCounter=0;

int lastButtonsState

vold setup ()}

{

Serial.begin(115200) ;

void loop ()

i

pinMode(buttonPin, INPUT);

buttonState = digitzalBead (buttonPin);

if (buttonState != lastButtonState) {

if (buttonsState

== HIGZH) {

buttonPushCounter++;

Serial.println (buttonPushCounter) ;

} o else |

Serial.println("off");

}

delay (50);

) \

lastButtonState =

buttonState;
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Nyomogomb (interrupt)

int buttonPin = 2;
int buttonState = 0;

int buttonPushCounter=0;

int lastButtonState = 0;
vold setup ()
{

Serial .begin{l15200);

pinMode (buttonPin, INPUT PULLUF);
attachIinterrupt (digitalPinToInterrupt (buttonPin), pressed, CHANGE)};
}

void loop ()

{1

vold pressed() {
buttonState = digitalRead (buttonPin):;

if (buttonState != lastButtonState) ¢
if (buttonState == HIZH) {
buttonPushCounter++;
Serial.println(buttonPushCounter) ;
Y else |
Serial.println{"off"};
}
delay (50) ;
}
lastButtonState = buttonState;
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LED

int ledPin=10;

volid setup ()

{
pinMode (ledPin, OUTPUT) ;

ot

volid loop ()

{
analogWrite (ledPin, 80);

//max 255



LED (pulzalas)

* A kimenet PWM jel! Nincs analég kimenete!

int led = 10;
int brightness = 0;
int fadefmount = 1;

Ld b =

s

volid setup() {
pinMode (led, OUTPUT) ;

1 oy LN

[ ]

(led, brightness):

brightness = brightness + fadeAmount:;

|
L o =

14 1if (brightness <= 0 brightness >= 255) {
15 fadeAmount = —-fadelfmount;

16 }

17 delay(1l):;
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LED+Potmeéter
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LED+Potmeéter

int ledPin=10;

int analogPin=0;

int led wvalue=0;
float scale factor=255.0/1024.0; //float!

void setup ()

{

pinMode (led, OUTEUT) ;
Serial.begin(115200);

void loop ()

{

Yot

int sensorValue = analogRead(analogPin);
Serial.println(sensorvValue) ;

led value=sensorValue*scale factor;
Serial.println(scale factor);

anzalogWrite (led, led walue);

/ /1024

10bit



